(Maximize Return)

302.08X1 +586.70X2 +395X3 +690.50XiL

1) XL +x2 +x3 +x4 23

2) 42.07X1 +46.69X2 +77.56X3 +44.24XA < 1556.1



3) 393.23X1
13115%2
A6 X3
1665 XA

Vv v v

4)  346.75X1 +428.30X2 +630X3 +405.98Xa

*1* x8. x3' x*

EX

9.79
115
20,000

1,556.1
0

23
205 178
161
6.16 | 3.1)
313.47 416.93

11.37 1261

302.08

395 690.50

v

«

13.85

403

7.00

630

5,000
3.47

V0. 127

145
3.5)
5

393.37
33.28

) 3.4
586,70



23 15,881

(Objective Function)

443.43X1 1360.87X2 +395X3 +586.70X4

1) X1 4X2 +x3 +XA I 23

2 415IX1 +40.53X2 +77.56X3 +46.69XA

3 102.97X1 =
99  x2 =\ 2
26 X3 =
131.15%, > 0

4) 215.33X1 +261.21R2 +630X3 +428.30%a
5 VXI MR .wxs + WG * 184

*1 X2, A3 Aa >0

X1
X2
X3

23

80

1512

25,000
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Solution Status

Name

RHS
CORN. AREA
BLACKSOY. AREA

Name

LAND

CORN. CONSUM
SOYBEAN.CONSUM
GROUNDNUT. CONSUM
BLACKSOY.CONSUM
CAPITAL

LABOUR

NNV VVVAN

1 -

158

8
2

Optimal Solution

Gradient



}

il

Solution Status:

Name

RHS
BLACKGRAM. AREA
SOYBEAN.AREA

Name

LAND

BLACKGRAM. CONSUM
MUNGBEAN. CONSUM
GROUNDNUT. CONSUM
SOYBEAN. CONSUM
CAPITAL

LABOUR
n\T"R

1 -

REL

NNNYV NV VN

o
— o1
3=

——

1

Optimal Solution

Value
0795.280

0.000
18.400

RHS

o

ORI OO OSSO
coococoooo
coococoooo

*

Gradient



(
/
80 !
1512 |
4 13.85
113 103
5 1
249.21 630
1.92 11.37
360.87
18.4
178

1.81

0.80)

205
5.83

10.03

416.93

6.81

395

10,795

23

26,676.78

23

6.16

49

145
8.00
208.52

443.46
586.70

15,881



4.3

3.1

302.08
1.61
403
313.47

100.06

586.70
7.00
145
416.93

124.22

3.4

3.5

395.00
5.00
¢ 205
630

105

690.50
6.16
178
393.37

53.07

50



L.
1556.1
1.81
( 4.3)
292.71 525
402.14
743.51

25,000
23

16.47

3.47

213.41
340.30
710.92

17,102

12,247

23

51

ta
2.13

500



4.4

Solution Status:

Col Name

1 RHS
2 CORN.AREA
5 BLACKSOY.AREA

Row Name

4 LAND

5 CORN.OONSUM

6 SOYBEAN.CONSUM

[ GROUNDNUT.CONSUM
8 BLACKSOY. CUNSUM
9 CAPITAL

10 LABOUR

4.5

NNV YV VNV VAN

Solution Status:

Col Name

1 RHS
5 BLACKSOY.AREA

Row Name

4 LAND

5 CORN.CONSUM

6 SOYBEAN.CONSUM

[ GROUNDNUT.CONSUM
8 BLACKSOY.CONSUM
9 CAPITAL

10 LABOUR

REL

NNV VVVA

Value
17102.110
0.000
23.000

Value

12247.721
16.472

1 - Optimal Solution

Gradient

1 - Optimal Solution

Gradient

52

Shadow

Shadow

0.000
-0.776

0.000

0.000

. 0.000

0.000
36.808



2.
120,000
(Farm Capital®
,000 25,000
A 'l
5,000
23
12.31
8,504.11
20,000
23
15,881
40 | a- 1 1 2000
12
25,000

20,000
, 25,000 20,000



4.P 1 20,000

Solution Status: 1 - Optimal Solution

Col Name Value Gradient

1 RHS 15881.500

2 CORN.AREA 0.000
5-BLACKSOY.AREA 2%.000

Row Name REL RHS Slack

4 LAND 2
5 CORN. CONSUM

6 SOYBEAN.CONSUM

[ GROUNDNUT.CONSUM
8 BLACKSOY,CONSUM
9 CAPITAL

10 LABOUR

NNV VYV VN
P Y Y e Y Y e Y e

0
0
0
0
0
0
0

OO ODOOOO

2000
5

ool
coro©
cooH O
ocoo

4.7 1} « ,000

Solution Status: 1 - Optimal Solution

Col Name Value Gradient

1 RHS 8504,
5 BLACKSOY. AREA 12

- Row Name REL RHS Slack

4 LAND 9.701
5 CORN.CONSUM - L
6 SOYBEAN.CONSUM '
[ GROUNDNUT.CONSUM . '
8 BLACKSOY.CONSUM -2214.213
9 CAPITAL '

10 LABOUR 967.771

NNV VYV VN

54

Sliadow

1
O ooCo
ocCwoocowWwo
oo ocoo
OO OODOMNO



55

»! 5,000
8,504
20,000 15,881 A 1,377
625
3.
5,000
23
23 16.4
11,684
5,000 (Mixed Crop)
15 11.9
3.9 11,367
20,000 1 I 23
17,102 16.47
12,247
5,000
23 '«

20,000



4.3

5,000

Solution Status:

Col Name

1 RHS
3 SOYBEAN.AREA
5 BLACKSOY.AREA

Row Name

5 CORN.OONSUM

6 SOYBEAN.CONSUM

[ GROUNDNUT.CONSUM
8 BLACKSOY.CONSUM
19 CAPITAL

10 LABOUR

4.9

Solution Status; 1 -

Col Name

1 RHS
3 SOYBEAN.AREA
5 BLACKSOY.AREA

Row Name

4 LAND

5 CORN.CONSUM

6 SOYBEAN.CONSUM

[ GROUNDNUT.CONSUM
8 BLACKSOY.CONSUM
9 CAPITAL

10 LABOUR

5,000

REL

NNV VVV

REL

NNV YV VVN

Value
11684.201

16.438
0.000

RHS

P e Y e Yo X Y IX
OO
oo oOoOo
OO O OO OO

— o
—_

1 - Optimal Solution

Gradient

Slack
6.562
-2155.796
't
341,327

Optimal Solution

Value
11367.432
11.907
3.905

RHS

2

B P Yo Yo Yan Yoy )
oo oOoooo

0
0
0
0
0
0
0

Do

Gradient

Slack
7.188
-1561.650
-650.138

Shadow

' '
orofCooCo
ocowrbtoorto
ocowooco oo
oOoO—JI—-Ioowo



4.10

20,000

Solution Status:

Col Name

1 RHS
2 CORN.AREA
5 BLACKSQOY. AREA

Row Name

4 LAND

5 CORN.CONSUM

6 SOYBEAN.CONSUM
{ GROUNDNUT.CONSUM
8 BLACKSOY.CONSUM
9 CAPITAL

10 LABOUR

411 I

REL.

NNV VYV VN

Solution Status:

Col Name

1 RHS
5 BLACKSOY.AREA

Row Name

4 LAND

5 CORN.CONSUM

6 SOYBEAN.CONSUM

{ GROUNDNUT.CONSUM
8 BLACKSOY.CONSUM
9 CAPITAL

10 LABOUR

NNV VYV VN

171

2

— o

122

flu

Value
02.110
0.000
23.000

RHS

OO
SooooOoOo

0
0
0
0
0
0
0

Value

47127
16.472

1 - Optimal Solution

Gradient

1 - Optimal Solution

Gradient

57



58

4
&hi
363.08 403.00 442.91
105.62 145,00 184.37
185.94 205.00 224,06
119.28 178.00 236.00
23 |
25,000 1,556.1
23 15,381
178 119.28
690.50 328.78
23 14,286
145 187
586.70 882.29
23 21,056
205 224,06
490.30 | 403 442.91
366.33 302.08
i 23
15,381

23



59

4.12 1 A | I« %

Solution Status: 1 - Optimal Solution

Col Name Value Gradient
1 RHS 14258.390
2 CORNAREA 0.000
3 SOYBEANAREA 23.000
Row Name REL RHS Slack Shadow
4 < 23.000 . 0.000
5 CORN.CONSUM > 0.000 . -0.808
6 SOYBEAN. CONSUM > 0.000 -3016.450 0.000
DNUT. > 0.000 . 0.000
8 BLACKSOY. CONSUM > 0.000 . 0.000
9 CAPITAL < 25000.000 15941.910 0.000
< 1556.100 482.230 0.000



(Price Taker)

7 7

1.16 1.61 2.00

497 7.00 9.03

4.44 5.00 5.56

5.30 6.16 7.02

23
25,000
23 15,881
6.16 5
I 4 690.50 56049
(7
14,286
7.00 9.03 79
882.29
23 21,056
5 5.56 490.30
1.61 2.00
483.43 » 23
| 15,881 »

23

14,286



61

L1d ! - ! !

)

Solution Status 1 - Optimal Solution

Col Name Value Gradient
1 RHS 21056.960
2 CORN.AREA 0.000
3 SOYBEANAREA 23.000
Row Name REL RHS Slack Shadow
LAND < 23.000 - 0.000
5 CORN.CONSUM > 0.000 ) -1.560
6 SOYBEAN.CONSUM > 0.000 -3016.450 0.000
Ryt R U
| < 25000.000 15941.910 0:000
18 %JA?L < 1556.100 482.230 0.000
{14 { o
Solution Status: 1 - Optimal Solution
Col Name Value Gradient
1 RHS 15881.500
2 COW.AREA 0.000
5 BLACKSOY. AREA 23.000
Row Name REL RHS Slack Shadow
4 LAND < 23, : 0.000
5 CORN.CONSUM > 8888 - -1.064
6 SOYBEAN.CONSUM > 0.000 ‘ 0.000
7 GROUNDNUT.QONSUM > 0.000 0 0.000
BLACKSOY. CONSUM > 0.000 -3829.500 0.000
CAPITAL < 25000.000 16352.460 0.000
< 1556.100 538.580 0.000



16348

15.60

5,000

11,093

5,000

3.9
16.47

25,000

15,687

95
6.16
557.26
11,093
16
5,000
20,000

(Mixed Crop)
11,367
12,247

[ 5,000
15.60 14288

62

5.30
23
11684
15.60
15.60
11.9
25,000
15.6



« 4.15

Solution Status:

Col Name

1 RHS
2 CORN.AREA
3 SOYBEAN.AREA

Row Name

4 LAND

5 CORN. CONSUM

6 SOYBEAN. CONSUM

[ GROUNDNUT.CONSUM
8 BLACKSQOY.CONSUM
9 CAPITAL

10 LABOUR

'? 4.16

REL

NNV YV VNN

Solution Status:

Col Name

1 RHS
3 SOYBEAN.AREA

Row Name

4 LAND

5 CORN.CONSUM

6 SOYBEAN. CONSUM

{ GROUNDNUT.CONSUM
* § BLACKSOY.CONSUM

9 CAPITAL

10 LABOUR

NNV VYV /N
1

Value

16348
0
23

23.

25000,

3
0
0.
0.
0
0
1108

110

0
0
0
0
0
0
8

860
000
000

RHS

0
0
0
0
0
0
0

ODOOOOOO
1

Value

93.908
15.607

1 - Optimal Solution

Gradient

Slack

-3016.450

18003.860
34.93(

1 - Optimal Solution

Gradient

Slack
7.393
-2046.884

20252.603

63



4.17

Solution Status

Col Name

1 RHS
.3 SOYBEAN.AREA

Row Name

4 LAND

5 CORN.CONSUM

6 SOYBEAN.CONSUM

/ GROUNDNUT.CONSUM
8 BLACKSOY.CONSUM
9 CAPITAL

10 LABOUR

4.18

REL

NNV VNV VYN

Solution Status:

Col Name

1 RHS

3 SOYBEAN.AREA
Row Name

4 LAND °
5 CORN.CONSUM
6 SOYBEAN.CONSUM

7 GROUNDNUT.CONSUM-

8 BLACKSOY.CONSUM
9 CAPITAL
10 LABOUR

REL

NNV VYV VN

— o
— o

5,000

1 - Optimal Solution

Value Gradient

11684.201

16.438

RHS Slack
6.562

OO OWwW
oo
oo ooooOo
ocoococooo

341.327

5,000

1 - Optimal Solution

Value Gradient
11093.908
15.607
RHS Slack
3.000 7.393
0.000 -
0.000 -2046.884
0.000 .
0.000 :
000.000 252.603
728.700 ,

-2155.796 .

64

Shadow

1]
orooooo
cowoocorto
oOowooorto
oOoONoOoooOoWwWo



» 419 1

Solution Status:

Col Name

1 RHS
3 SOYBEAN.AREA

»
Row Name

4 LAND

5 CORN. CONSUM

.6 SOYBEAN.CONSUH
7 GROUNDNUT,.OONSUM
8 BLACKSOY.CONSUM
9 CAPITAL

10 LABOUR

NNV VYV VN

Sa

20,000

1 - Optimal Solution

110

Value

93.908
15.607

Gradient

Slack
7.393

-2046.884

15252.603

65

Shadow

1
O

NOODODODODO
Moo ocooo

OIOOOO



7 4.20 « « * \3 25000

Solution Status 1 - Optimal Solution

Col Name Value Gradient
1 RHS 12247.727
5 BLACKSOY.AREA 16.472
Row Name REL RHS Slack
23.000 6.528
5 CORN.CONSUM > 0.000 .
6 SOYBEAN.OONSUM > 0.000 .
7 GROUNDNUT.OONSUM > 0.000 .
8 BLACKSOY.OONSUM > 0.000 2742508
9 CAPITAL < 25000.000 19187.036
10 LABOUR < 728.700 .
"1 « { 000
Solution Status 1 - Optimal Solution.
CO.! Name Value Gradient
| RHS . 11367432
3 SOYBEAN. AREA 11.907
5 BLACKSOY.AREA 3.905
Row Name REL RHS Slack
4 LAND < 23.000 7.188
5 CORN.OONSUM > 0.000 '
6 SOYBEAN.OONSUM > 0.000 -1561.650
7 GROUNDNUT. OONSUM > 0.000 .
8 BLACKSOY.OONSUM > 0.000 -650.138
9 CAPITAL < 5000.000 .
10 LABOUR < 728.700

66

Shadow

1
O

ocoooco—o
oo oo~oO

OHODODODOO

Shadow

1
RPOOOOCO
—~NCOOOOODO
OCLWOODOLCO



f? 4.22

Solution Status

Col Name

1 RHS
3 SOYBEAN.AREA

Row Name

4 LAND

5 CORN.CONSUM. -

6 SOYBEAN.CONSUM

{ GROUNDNUT.CONSUM
8 BLACKSOY.CONSUM
9 CAPITAL

10 LABOUR

4.23

Solution Status

Col Name

1 RHS
3 SOYBEAN.AREA

Row Name

4 LAND

5 CORN.CONSUM

6 SOYBEAN. CONSUM

/ GROUNDNUT.CONSUM
8§ BLACKSOY.CONSUM
9 CAPITAL

10 LABOUR

iu

REL

NNV VNV VN

NNV VYV VN

- DO

25,000 1

1 - Optimal Solution

Value Gradient
15687.886
15.607
RHS Slack
3.000 7.393
0.000 .
0.000 -2046.884
. 0.000 .
0.000 ‘
000.000 252.603
728.700 ‘
) 5,000. «
1 - Optimal Solution
Value Gradient
14288.701
15.607
RHS Slack
3.000 7.393
0.000 .
0.000 -2046.884
0.000 .
0.000 .
5000.000 252.603
728.700

67

Shadow

'
—moocooTo
Tooocoo
NNOODODO0O
OCooooOorro

Shadow

.
coocoolTo
ocCoocooOoOo
ocoococo—Io
oo UID



68

2 4.24 11t I( ) *|

Solution Status: 1 - Optimal Solution

Col Name Value Gradient
1 RHS 14258.390
2 CORN.AREA 0.000
3 SOYBEAN.AREA 23.000

Row Name REL RHS Slack Shadow
4 LAND < 23.000 0.000
5 CORN. CONSUM > 0.000 ) o -0.808
6 SOYBEAN.CONSUM > 0.000 -3016.450 0.000
7 GROUNDNUT.CONSUM > 0.000 ) 0.000
8 BLACKSOY.CONSUM > 0.000 ) 0.000
9 CAPITAL < 25000.000 15941.910 0.000
10 LABOUR < 1556.100 482.230 0.000
11 SEASAME.CONSUM > 0.000 ) -2.866



7Moot
230
5.30
14,258
18.4
4.25
() 44346
( ) 5.83
( ) 113
208.52
( )
! 76.88
( )
31,

3.4

442.24

10795.28

360.87
6.00
103
249.21

61.46

3.5

(

64

10.66

395.00
5.00

4.25)

205
630

105

586.70
7.00
145
416.93

12422

69



24921

500

1.16

187.75

416.93

80
18.4

110.92

3.47

208.52

292.71
ift

520.34

25,000

70

1512
2.57
»
131.64
630 525
im ,
442 33
23
13,056
16.764 11,895

5,000



4.26

Solution Status:

Col Name

1 RHS
2 BLACKGRAM.AREA
5 SOYBEAN.AREA

Row Name

4 LAND

5 BLACKGRAM.CONSUM
6 MUNGBEAN.CONSUM
7 GROUNDNUT.CONSUM
8 SOYBEAN.CONSUM

9 CAPITAL

10 LABOUR

11 WATER

REL

NNNYVYV YV VN

Solution Status:

Col Name

1 RHS
5 SOYBEAN.AREA

Row Name

4 LAND

5 BLACKGRAM.CONSUM
6 MUNGBEAN.CONSUM
[ GROUNDNUT. CONSUM
8 SOYBEAN.CONSUM

9 CAPITAL

10 LABOUR

11 WATER

* REL

N NNV VNV VN

Value
13056.27
0.00
18.40

OO

[NG)
)
T
w

ro
o
O o

=]

coocooooo
OO ODOODIOODO

Value

11074.555
15.607

RHS

[N

o
o
o
O OOOOOoOO
OO ODODOOOOOD
OO OO ODOODOO

oo

1 - Optimal Solution

Gradient

1 - Optimal Solution

Gradient

1



12

4.28 « 20,000

Solution Status 1 - Optimal Solution

Col‘Name Value Gradient
1 RHS 10795.280
2 BLACKGRAM.AREA 0.000
5 SOYBEAN.AREA 18.400
Row Name REL RHS Slack Shadow
4 LAND < 23.000 4.600 0.000
5 BLACKGRAM.CONSUM > 0.000 .. -1.714
6 MUNGBEAN. CONSUM > 0.000 . 0.000
7 GROUNDNUT.CONSUM > 0.000 . 0.000
8 SOYBEAN.CONSUM > 0.000 -2413.160 0.000
9 CAPITAL < 20000.000 12753.528 0.000
10 LABOUR < 1512.000 . 652.904 0.000
11 WATER < 18.400 . 619.930
HT? 4.29 ,000
Solution Status 1 - Optimal Solution
Col Name Value Gradient
1 RHS 8857.757
2 BLACKGRAM. AREA 13526
5 SOYBEAN.AREA , 4.874
Row Name REL RHS Slack Shadow
4 LAND < 23.000 4.600 0.000
* 5 BLACKGRAM.CONSUM > 0.000 -1295.906 0.000
6 MUNGBEAN.CONSUM > 0.000 0 0.000
7 GROUNDNUT.CONSUM > 0.000 0 0.000
8 SOYBEAN. CONSUM > 0.000 -762.601 0.000
9 CAPITAL < 5000.000 . 0.989
10 LABOUR < 1512.000 718.096 0.000
11 WATER < 18.400 230.579



1,263

20,000

20,000
4.8
18.4
20,000
20,000
675
3.
18.4
11,074

5,000

5,000

13.5
8,857

20,000

10,795

5,000

5,000
15,000
1,938

13,056

20,000

15.6

73



4.30 . 20.000 1

Solution Status: 1 - Optimal Solution

Col Name

1 RHS
5 SOYBEAN.AREA

Row Name

4 LAND

5 BLACKGRAM.OONSUM
6 MUNGBEAN. CONSUM
1 GROUNDNUT.0ONSUM
8 SOYBEAN.CONSUM

9 CAPITAL

10 LABOUR

11 WATER

431

REL

NNNYVVVVAN

Value

11074.555
15.607

)
T
(@p]

O

fars

—_
oo ro
OO ODODODOOWLW
SO OO OOO
DO ODOOOO
DO OO OOO

» » IHRB 20,000 -

1Solution Status

Col Name

1 RHS
2 BLACKGRAM.AREA
5 SOYBEAN.AREA

Row Name

4 LAND

5 BLACKGRAM.CONSUM
6 MUNGBEAN. CONSUM
[ GROUNDNUT.CONSUM
8 SOYBEAN.OONSUM

9 CAPITAL

10 LABOUR

11 WATER

REL

NANNNYV VYV VN

Value
13056.27
00
40

OOPO

0.
18.

)
-
(2]

[N
o
O
—_—e o
ORI OO DD ODOOLW
PLWOOOOOO
OO OODODODODDODO
OO IOODODOODO

Gradient

Slack
7.393

. -2046.884
- 15252603

2.793

1 - Optimal Solution

Gradient

14

Shadow

.
OO O
OO OOWO
OO

—
o
o
o
S



[ ] 4,32

5.000

Solution Status:

Col Name

1 RHS
2 BLACKGRAM.AREA
5 SOYBEAN.AREA

Row Name

4 LAND

5 BLACKGRAM. CONSUM
6 MUNGBEAN.CONSUM
 GROUNDNUT.CONSUM
8 SOYBEAN.CONSUM

9 CAPITAL

10 LABOUR

11 WATER

4.33

Solution Status:

Col Name

1 RHS
5 SOYBEAN.AREA

Row Name

4 LAND

5 BLACKGRAM.CONSUM
6 MUNGBEAN.CONSUM
- GROUNDNUT.CONSUM
8 SOYBEAN.CONSUM

9 CAPITAL

10 LABOUR

11 WATER

5,000

REL

>(_
N NNV NV YV VN

REL

NNANVYV YV VN

o
~NOo
koo

o
oo
=

o

Py P Lo T T Y e L)
ocCoocoOooooo

o

Py P P L L T Y
oo ooooOoO

Value
11076.075

Value

12374.684
3.602
14.798

1 £)

)
I
(92

15.609

2
-
wn

1 - Optimal Solution

Gradient

Slack
4.600
-370.868
-1940.795
131.861

1 - Optimal Solution

Gradient

15

Shadow

™S OO .:.:
ODONNOOOOO

wW
[a>]



76

I/ « 14.79
3.6 123714 m
I 15.6
11074
20000
5000
( )
5,000
( ) 5,000
4,
]
w .
105.05 113 120.95
77.59 103 128.41
185.94 205 22406
105.63 145 184.37
18.4
10,795

145 105.63



Solution Status:

Col Name

1 RHS
2 BLACKGRAM. AREA

Row Name

4 LAND

5 BLACKGRAM.CONSUM
6 MUNGBEAN.CONSUM
{ GROUNDNUT.CONSUM
8 SOYBEAN.CONSUM
9 CAPITAL

10 LABOUR

11 WATER

Solution Status:

Col Name

1 RHS
2 BLACKGRAM.AREA

Row Name

4 LAND

5 BLACKGRAM.CONSUM
6 MUNGBEAN.CONSUM
7 GROUNDNUT.CONSUM
8 SOYBEAN. CONSUM
9 CAPITAL

10 LABOUR

11 WATER

REL-

NNNYVV NV VN

HHHIRItal

REL

NNNYNV VNV VNVAN

1

Value

8159.664
18.400

RHS

[N
©

o
— O
(& p fa)

— o
rooooooO

POrOOOOOO
OO OO
oo

1bn

1 - Optimal Solution

Gradient

Slack
4~600

-1894.648

21037.928
718216

Optimal Solution

Value
9012.320

18.400 -+

[N
)
-
w

oo ooooo
OO ODOOOOD
OO OOOOO

o
— O

(& Kamn)
R —_O

Gradient

Slack

4.600
-1894.648

21037.928
748.216
#

1

Shadow

~
~

LDOOODODDODOOODO
PO OO0
DO OODDOOO
OO OO OOOD

ana

Shadow

OO
OO OOOD
P Y P L Y L L
P P T P T T o T

N
oo



586.70
18.4 | 8159
113
m 443.46
I 103 128
205 224.06
18.4
145
344.34
205 224.06
18.40 8193.52
: \ 18.4
VARSI E
18.4 9012.32
[
5.
4.65 5.83
5.4 6.00
4.43 5.00
4.97 7.00

a

78

311.11

120.95
489.80

10,795

105.63

944527
A M

7.00
6.56
5.56
9.03



4.36

Solution Status:

Col Name

1 RHS
2 BLACKGRAM.AREA
5 SOYBEAN.AREA

Row Name

4 LAND

5 BLACKGRAM. GONSUM
6 MUNCHIEAN. OONSUM
{ GROUNDNUT.OONSUM
8 SOYBEAN.OONSUM

9 CAPITAL

10 LABOUR

11 WATER

REL

NNNYV VYV VN

o
OO

2500
151

—

Value

10795.280

0.000
18.400

roooOooOoOoOo
coocooooo
Sooooooo

20
T
w

1 - Optimal. Solution

Gradient

Slack
4.600

O —
1o
N oL
: oo g
O PO
~ 00O

79



4.37

Solution Status:

Col Name

1 RHS

2 BLACKGRAM.AREA
3 MUNGBEAN.AREA

1 -

Row Name REL

4 LAND

5 BLACKGRAM. CONSUM
6 MUNGBEAN. CONSUM
{ GROUNDNUT. CONSUM
8 SOYBEAN.CONSUM

9 CAPITAL

10 LABOUR

11 WATER

N/NNYV VNV YV VN

fl 4.38 ? E

Solution Status

Col Name

1 RHS
2 BLACKGRAM.AREA
4 GROUNDNUT.AREA

Row Name

4 LAND

5 BLACKGRAM. CONSUM
6 MUNGBEAN.CONSUM
7 GROUNDNUT.CONSUM
8 SOYBEAN.CONSUM

9 CAPITAL

10 LABOUR

11 WATER

o

— o
o1o
Pk, o

[NS]

oL

Value
9445.272

0.
18.

RHS

ODOOODODOOoOO

000
400

ODOODODDODODOoOO

20

80

Optimal Solution

1 - Optimal Solution

REL.

NNNYNVYVVVAN

[ ]

— o1
(& p Fam)
R, O

[pS]

ORI OO OO ODODLW

Value

8193.520
0.000
18.400

=)
T
wn

OO DO OO
ODOODODODOIODOO

Gradient
Slack Shadow
4.600 0.000
L -0.679
-1821.600 0.000
. 0.000
. 0.000
193.736 0.000
766.248 0.000
# 513.330
'3
Gradient
Slack Shadow
4.600 0.000
. -0.018
3772000 7000
U, 0.000
12580.000 0.000
84.896 0.000
A 445,300



| 184
10,795
7.00
4.97 m 586,70
382.00 18.40
8159.66
4.65 7.00
I 443.46 575.67
| 6.00 6.56 360.87
419.58 5 5.56
395 511.85
18.4 10,795
6.
7.00 4.97
382.00
18.4 8,159 [
18.4 9,574
9,134.46
[
25,000 20,000 5,000

17.55 9,134

§1



4.39

Solution Status:

Col Name

1 RHS
2 BLACKGRAM AREA

Row Name

4 LAND

5 BLACKGRAM.CONSUM
6 MUNGBEAN.CONSUM
[ GROUNDNUT.CONSUM
8 SOYBEAN. CONSUM
9 CAPITAL

10 LABOUR

11 WATER

REL

NN\NNV VNV VN

Solution Status:

Col Name

1 RHS
2 BLACKGRAM.AREA
4 GROUNDNUT.AREA

Row Name

4 LAND

5 BLACKGRAM.CONSUM
6 MUNGBEAN. CONSUM
{ GROUNDNUT. CONSUM
8 SOYBEAN.CONSUM

9 CAPITAL

10 LABOUR

11 WATER

REL

NNNV VYV VN

o
(Sn]

oo

——no NS
OO OOOOW
PP LWODOOOOO
ODODODOOOOO
OO OO

[pS]

o
~No
koo

Value

9574.256
18.400

o

OO OO ODDODDOD LW

20
T
w

Value

9134.469
. 17.555
0.000

RHS

OO ODIODODODIDODDOO

OO OO ODODDOO

1 - optimal Solution

Gradient

Slack
4.600

-1894.648

22

452.520
208516

1 - Optimal Solution

Gradient

Slack

5.445
-1807.619

22569.537
0.845

D
=
>
=3
o
=

DLW OODODOO
oo oOoOoOO

1 H 1 1
Srooohoc,o



fi 441

Solution Status

Col Name

1 RHS
2 BLACKGRAM. AREA
4 GROUNDNUT.AREA

Row Name

4 LAND

5 BLACKGRAM.CONSUM
6 MUNGBEAN.CONSUM
- GROUNDNUT.CONSUM
8 SOYBEAN.CONSUM

9 CAPITAL

10 LABOUR

11 WATER

Ny

20,000

.1 - Optimal Solution

REL

NNNYVVV VN

Solution Status:

Col Name

1 RHS
2 BLACKGRAM.AREA
4 GROUNDNUT.AREA

Row Name

4 LAND

5 BLACKGRAM.CONSUM
6 MUNGBEAN ICONSUM
7 GROUNDNUT.CONSUM
8 SOYBEAN. CONSUM

9 CAPITAL

10 LABOUR

11 WATER

REfe

NNNVNVYVNV YV VN

200

|
— Do

o
~No
—,oo

[N
oo
ocoo

oo O

oo O

0

Value

9134.469
17.555
0.000

LoD
=N ooo

=)
T
n

5,000

[ ]

[oclecfanilanlanlan Y 6]

Value

9134.469
17.555
0.000

RHS

OO OO ODOOO

OO ODOODODOO

Gradient

Slack

5.445
-1807.619

*
17569.537
0.845

1 - Optimal Solution

Gradient

Slack

5.445
-1807.619

2569.537
0.845
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Shadow

] 1
Moo

1 H

OSrooo

oMo oWwWo oo
OO OO
oI OoOPoOoDoOoOO

Shadow
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OSrooooMPo o
OO Wo oo
OOLWOOODOOOD
oI oP~oOoOo

LI =N



*J 4
I
18.4
17
18.4 12,006
IV 11,455
18.4
14.7
12,850
11,455
20.000
25.000 20000
' 5000

5.83 7.00

12,006.92
11,455

20,000

5,000
, (Mixed Grop)
3.6

17.55

, 25,000

20,000

6.00 6.56



4.43

Solution Status:

Col Name

1 RHS
2 BLACKGRAM.AREA

Row Name

4 LAND

5 BLACKGRAM.CONSUM
6 MUNGBEAN.CONSUM
- GROUNDNUT.CONSUM
8 SOYBEAN.CONSUM

9 CAPITAL

10 LABOUR

11 WATER

4.44

REL

NNNYVVVVN

Solution Status:

Col Name

1 RHS
2 BLACKGRAM.AREA
5 SOYBEAN.AREA

Row Name

4 LAND

5 BLACKGRAM.CONSUM
6 MUNGBEAN. CONSUM
[ GROUNDNUT.CONSUM
8 SOYBEAN.CONSUM

9 CAPITAL

10 LABOUR

11 WATER

REL

NNNVV V VN

Value

12006.920
18.400

o
2
-
(92

ro
133
oo
=)
ORI OO ODOOW
B LWODOOOOO
OO ODOOOO
oo OoOOoO

Value

11455.389
17.555
0.000

(NG
X
I
n

o ooooo
OO O OO IOOO
OO OO OODOODO

[ ]

o
~No
—,oo

1 - Optimal Solution

Gradient

Slack
4.600

-1894.648

1 - Optimal Solution

Gradient

Slack

5.445
-1807.619

22569537
0.845
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Shadow
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4.45 iStj-jR

Solution Status:

;10 Tu

,000

1 - Optimal Solution

86

Col Name Value Gradient

12850.866

2 BLACKGRAM. JAREA 3.602

5 SOYBEAN.AREA 14,798
Row Name REL RHS Slack Shadow
4 LAND < 23.000 4.600 0.000
5 BLACKGRAM. CONSUM > 0.000 -370.868 0.000
6 MUNGBEAN.CONSUM > 0.000 ' 0.000
7 GROUNDNUT.CONSUM > 0.000 « 0.000
8 SOYBEAN.CONSUM > 0.000 . -1940.795 0.000
9 CAPITAL < 5000.000 . 0.344
10 LABOUR < 972.300 131.861 0.000
11 WATER % 18.400 604.907

4.46 Th ,000
. Solution Status: 1 - Optimal Solution
Col Name Value Gradient

1 RHS 11455.389

2 BLACKGRAM.AREA 17.555

5 SOYBEAN.AREA 0.000
Row Name REL RHS Slack Shadow
4 LAND < 23.000 5.445 0.000
5 BLACKGRAM.CONSUM > 0.000 1-1807.619 0.000
6 MUNGBEAN.CONSUM > 0.000 ) 0.000
7 GROUNDNUT .'CONSUM > 0.000 ) 0.000
8 SOYBEAN.CONSUM > 0.000 . -0.186
9 CAPITAL < 5000.000 2569.537 0.000
10 LABOUR < 728.700 15.720
11 WATER < 18.400 0.845 0.000



10,795 I
15.6 9,675
5,000
1 9,675
10,771
511.85

18.4

§7

6.00 6.56
360.87 481.90
18.4
15.6

14.7 3.6
5.00 5.56

10,795
15.6 9,675

5,000
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4.47 2] ja

Solution Status: 1 - Optimal Solution

Col Name Value Gradient
1 RHS 10795.280
2 BLACKGRAM. AREA 0.000
5 SOYBEAN.AREA 18.400
Row Name REL' RHS Slack Shadow
4 LAND - < 23.000 4.600 0.000
5 BLACKGRAM.CONSUM > 0.000 ] -1.714
6 MUNGBEAN. CONSUM > 0.000 . 0.000
7 GROUNDNUT.CONSUM > 0.000 . 0.000
8 SOYBEAN.CONSUM > 0.000 -2413.160 0.000
9 CAPITAL < 25000.000 19403.088 0.000
10 LABOUR < 972.700 113.604 0.000
11 WATER < 18.400 519.930
4.48 Bin
Solution Status: 1 - Optimal Solution
Col Name 1 Value Gradient
1 RHS 9675.370
5 SOYBEAN.AREA 15.607
Row Name REL RHS Slack Shadow
4 |LAND < 23.000 7.393 0.000
5 BLACKGRAM.CONSUM > 0.000 . -1.046
6 MUNGBEAN.CONSUM > 0.000 . 0.000
7 GROUNDNUT.CONSUM > 0.000 0.000
8 SOYBEAN.CONSUM > 0.000 -2046.884 0.000
el g mem
< , _ .
11 WATER < 18.400 2.7193 0.000
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4.49 1 5,000 1
|
Solution Status: 1 - Optimal Solution

Col Name Value Gradient

. 1 RHS 10771.117
2 BLACKGRAM.AREA 3.602
5 SOYBEAN.AREA 14,798

Row Name REL RHS Slack Shadow

4 LAND < 23.000 4.600 0.000

5 BLACKGRAM.OONSUM > 0.000 -370.868 0.000

6 MUNGBEAN.CONSUM > 0.000 . 0.000

7 GROUNDNUT.CONSUM > 0.000 ' 0.000

8 SOYBEAN.OONSUM > 0.000 -1940.795 0.000

9 CAPITAL < 5000.000 ' 1.065

10 LABOUR < 972.300 131.861 0.000

11 WATER 4 18.400 . 296.038
I 450 R L A 000

Solution Status 1 - Optimal Solution
Col Value Gradient

1 RHS 9675.370
5 SOYBEAN.AREA 15.607

* Row Name REL RHS Slack Shadow

4 LAND < 23.000 7.393 0.000

5 BLACKGRAM.CONSUM > 0.000 . -1.046

6 MUNGBEAN. OONSUM > 0.000 . 0.000

7 GROUNDNUT. OONSUM > 0.000 . 0.000

8 SOYBEAN.OONSUM > 0.000 -2046.884 0.000

Q PAPTTAT. 5000.000 252.603 0.000

10 LABOUR < 728.700 . 13.278

11 WATER < 18.400 2.793 0.000



»l 451

Solution Status:

Col Name

1 RHS
2 BLACKGRAM.AREA
5 SOYBEAN.AREA

Row Name

4 LAND

5 BLACKGRAM.CONSUM
6 MUNGBEAN. OONSUM
7 GROUNDNUT.CONSUM
8 SOYBEAN.CONSUM

9 CAPITAL

10 LABOUR

11 WATER

! 4.52

Solution Status

Col Name

1 RHS

5 SOYBEAN.AREA
Row Name

4 LAND

5 BLACKGRAM.CONSUM
6 MUNGBEAN.OONSUM
{ GROUNDNUT.CONSUM
8 SOYBEAN.CONSUM
9 CAPITAL

10 LABOUR

11 WATER

REL

NN\NNY VNV VNN

REL

NNANYVVVVN

1 - Optimal Solution

Value Gradient
10795.280
0.000
18.400
RHS Slack
23.000 4.600
0.000 '
0.000 .
0.000 .
0.000 -2413.160
25000.000 19403.088
972.700 113.604
18.400 :

Value

9670.058
15.599

RHS
23.000

0.000
0.000
0.000
0.000

25000.000
7128.300
18.400

1 - Optimal Solution

Gradient

90

Shadow

0.000
-1.714
0.000
0.000
0.000
0.000

0.000
619.930

Shadow

0.000
-1.046
0.000
0.000
0.000
0.000

13.278

0.000



4.53

Solution Status:

Col Name

1 RHS
2 BLACKGRAM.AREA
5 SOYBEAN.AREA

Row Name

4 LAND *

5 BLACKGRAM.CONSUH
6 MUNGBEAN. CONSUM
{ GROUNDNUT.CONSUM
8 SOYBEAN.CONSUM

9 CAPITAL

10 LABOUR

11 WATER

4.54

REL

NN\NNYV VYV VN

*Solution Status:

Col Name

1 RHS
5 SOYBEAN.AREA

Row Name

4 LAND

5 BLACKGRAM.CONSUM
6 MUNGBEAN.CONSUM
/- GROUNDNUT. CONSUM
8 SOYBEAN.CONSUM

9 CAPITAL

10 LABOUR

11 WATER

5,000

1 - Optimal Solution

Value Gradient
10771.117
3.602
14.798
RHS Slack
23.000 4.600
0.000 -370.868
0.000 .
0.000 .
0.000 -1940.795
5000.000
972.700 132.261
18.400 .
5,000 1

1 - optimal Solution

Value Gradient
9670.058
15.599
REL RHS Slack
< 23.000 '7.401
> 0.000 )
> 0.000 .
> 0.000 )
> ~0.000 -2045.760
< 5000.000 20255.209
< 728.300 )
< 18.400 2.801
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Shadow
0.000
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